o

5.

7. From a paint p
o Ihe plane.  The motion la

with speed u st 457
“of grealest dope up

Exprem the welocity . # and displacement ©
whete I ood ] aee unit vectors along and perpend
that the range on the Jochned planc is

I‘and f,

« Prove that the
uw' /¥ -
A E L

-5
8

——-.~2. A particle id projected from
yelocity w = WY s 4+9] metres/

5
Jong the llnesof greatent slope In the pl
that after time & seconds the positlon vector,

[
. -dhow

YR - :%[t:roﬁt— Tyt

21 {3/5 metren,

3, A particle |
d at 30° to the horizontal.

up 2 plane Incli

.\anglés, show tha
. 10 cos (e — 30) and
§ sin 30 )

deduce a value for tan(oe — 30).

Calculate he range of the.p

b
=)
/

Hence

A plang is inclined .at an angle tan™! (;') to the horizontal
ail.

up the plane

is vertical and contains i
the line
parallel to the horizontal. MERCES e

Express ¢, the time of Might, in terms of & and @

Hence, or otherwise, establish that

Calculate the

:-7\ C‘\ Ve 1] S e \/K

Pery (0

~1(Ly (o the hotizontal, 3 pacticle i projected

an a plang, inclined at lan
kes place in a vertical plane through a fine

the planc  from
v 7 from p of Abe particle after time f in lermt af
feular to.the planc, reapeetively.

par('u:t:‘ strikes tl;llz_p;nns al E’ nnd.ll Lty
- (RGO,

wb _ ot )T L (W ]
S (F-)UFCE- %)

a polat O on a plene inclined at §0° to t
second whers T 16 u unlt vector through 0

#, 0
9T+ (14t = 7¢*13) metres, Prove that the range on

ind the velocity of the particle when it strikes the plane.

and, T P
# g Lot i97]

S,(A ~ 6Wf

he horlzontal with
pointlng upwerd

ane and j‘ 1a & unit vector perpendicular to the plane,
¢ the. psrticle relestlve to 0 in glven by

the Inclined plane 18-

“ 4. e acmiected up the plane

L]
s projected with 2 speed of '10 mfs at an angle o to the horizop(al
e { {f the partlcle strikes the plane at right
t the time of fight can be represented by the two expressions

" 20 _sin (o —~ 30)
-

g cos 30 \[.5
2 K
4o o

¥

article along the plane.

with veloc; ty « at an angle @ to the lane. The plane o rojection
1 B p (The plan { pro,
d ojecti
The particle strikes the plane

tan § = 4§ .
. .
range along the plane. w @ ' ' a‘

—

*§

(i1%2)



C
x
\
c
a
Q
m.
i
0]
-
X
9

P ‘ ub = UK/)(/‘\L\—S = u.\'/\E.
QAx = —3$cr\ﬁ = _3/('@_
Ay= -qcoshA - _ o
V= Wk V= b — 3t ? -
S VR I R
V:j:__‘f‘._—-?_il? s .
Jz JS

.
S= ok + bak S.=uk- gk

Prove : Pahcx& S)GAA&D pb_r\Q oX q0° 2
Range = W'Js

9

.v'Qayxgz ve- Sx whan 83“—0

X —ak\-
ub _of o t (%3
Jgz S

t=0 or|t =Js4
J29

5\}&2 lww_ ok qo - No veQr:xjtﬁ o«\m}%plaﬂe, «J\l«m& L\JI;
S 4=




= —>
Ve /w3 8\ + [l fEiLE>T

NEIEN S Jz Js
Y
Sdlom k‘: E,Ui
9
V- w-4 Fa _u_u .o foed
Jz \,@ J—Zﬁ/ J= J= -Z'e‘oj'

. Cu’\A @OU/\%Z . le »fuxc)\ S x Whgn L= Jsa

Ve g
Sx = LF _ gt
AN
: \r JFQBELEQ—L
= \\z9 205\ V29
- Jsut Jsu®
29 L9

%(J%’“B - LI
é“*)

q} 26-0\.




| —
f(mOO L2730+ pqT

x_75.;>
L\b= ){-q
QX = —3§U"\éo
o) —-3coséo
\2 u—s«oJ(- 7J3 "3$E
Va7 b gt
R L S A P
Ty
Sy= 4ab - 9
(<
+ L



~o [k '7’Cj e

Sx = - 205?5%‘ - 7'5?54{]

i [aod’é@ —~753®7

20

7 Eoﬁ — 'Z%)'Zi)

20

- 2 (]

= 2\E 26-01
5

\
N
o ~

1

1y

\/ w\,\q_ﬁ L)(; SJG'&\"—QD - ?
e ?W\ \J \,:,\Astn \U =L

\/—;\/L‘\"\/j

W

I

W

f(

C\j“gﬂ-g__\>L + (Lm _l.‘c}f

[75‘3 q@_(?)Jk . @ﬂ 3(&)J

E]ﬁ —«5533?-1—- {:qu ’5:‘)3?
(15-%. 9|0+ fus - 18]5-

2 98 2
—
69

S 10J3~ “Hyj

f
f—"'”"'—.T-'«"
’6!\/
('?
"y
=l
P
<.
W)
{ [ ganl
—_ )
_ —




0, = ocos (0-39)

U‘:j = 1o 606*30)

AQx = "_30({)30 = "3./2
ay = ~ 9 s 30 = aj%
V= U\')‘C&‘ Ve = SOCOSCod—*go) — §_‘:
2

Vy = 16 aen (o6 —30) -39_3&
2

S=uk —!—J?:o)cz S.= loces (-39t ——%L}

Sy = lonin (6-30dk — 3_? L

cShow time “j g\Ag\,\k CJQ,OQB slocesl =39) 9 2050 (x~3)

%’DLAFSO F_—_?’COS 30

—

Loy 3 ie fud £ uhen %:OG%SM\

sy<0 ¢ _tomn (w300t - &}

£ (onm I %JE t>
T

Soap .
6c Eac\ra ':

beo or ks oanfata [T
%—J’—S ! _\ Ineec\ cox, ;u\'-
_ ( i GV wwes” ,!,

O 600&7 (o0 —303—__\23@5 300 -0

s

E= Zoom(oo’3o)} 7€d

tzo or

SCOS SO

—_——



loxd

)

Ve 20 \ocos Cod .«'303 . %om ‘30t =0

. = _ P\&:uw}g.
t'oa oA e va\ b when (Mo =© - ok O o

ll:; 10 ¢co S CoG"?*‘J)} Z"e“) |

505\ 30

\falu.o_ ?csr‘
. Oedince & fan (o '*303
E-tb =
20 nun (o6 —30) . lo cos Cod-?CD
q cos 3O & mcn 30

20 g//)(:f\ 30 - CoOS Cod p?O)

0g cos 30 sin (oo = 30)

2 len 20 = fan (x-30)
Z. L =1 %—5/\ (06"30)

Jz
5" (%fﬁ g.ed




?% E= )M) (T:ZQOL:/’)CO(.—3C>>

g 30 Y 0SS 36

12/\ 66-30):\51

@Mg,e ) }mr)\ Sx. whan %:O e whan b= edlr af

a_tDMUELIMQO-

Sx =

10 cos (o6—33)k - gsin3ob”

2
-locz b- g &
J2 z
- 20k - gt
V7 [

- 20 Eows (639 — 3 ((ocos (u-35]"

J7 s 3o 4 9SS 30

I




